Numerators" and "denominators" to calculate the "year-to-year percent change"

for figures of FY 2000 and 2001. "

Aurvey

Mumerator

Denominator

“Vear-to-yeat
percent change™ for
figures of FY 2000

Ifarch 2000 survey

Figures of FT 2000 (1)

Figures of FY 1959 (3)

Jue 2000 survey

Figutes of FY 2000 (2)

Figures of FY 1999 (6)

Ll —}

Dreruominator
eed

September 2000 survey

Figures of FT 2000 (3)

December 2000 survey

Figutes of FY 2000 (4)

Ilarch 2001 survey

Figutes of FY 2000 (5)

June 2001 survey

Figutes of FY 2000 (6)

k. J

“Year-to-yeat
percent change™ for
figures of F¥ 2001

Ilarch 2001 survey

Figutes of FY 2001 (1)

Figures of FY 2000 (3)

Jue 2001 survey

Figutes of FY 2001 (2)

Figures of FY 2000 (&)

A the
LOMMETALOT i5
eed, “pear-
bo-ear
peTCent
chimgze™"of
Fv 2000 is
oeed

accordivghy.

Ll —

September 2001 survey

Figutes of FY 2001 (3)

Drervmitator
eed

December 2001 survey

Figutes of FY 2001 (4)

Dlatch 2002 sutvey

Figutes of FY 2001 (5)

Jute 2002 survey

Figutes of FY 2001 (F)

Note: Figures in parentheses indicate the ordinary numbers of survey for the figures of each fiscal year.

The "revision rate" is calculated by comparing the "figures of the previous survey" and the "figures of

the present survey" as shown below:

Revision rate (%) = (figures of the present survey - figures of the previous survey) / figures of the

previous survey x 100

It should be noted that the following equation does not necessarily hold: "year-to-year percent change of

the previous survey" + "revision rate of the present survey

present survey".

n—n

year-to-year percent change of the

This is because, as shown above, there is usually a difference between the "denominators" used in

calculating the "year-to-year percent change" of the March survey and those used in the other surveys.

In the example shown below, the year-to-year percent growth is higher (lower) in the June survey

compared to the March survey, but the revision rate of the June survey is negative (positive).




Example 1: Fized investment of large manufacturing enterprises (FY 20017

Wlarch 2001 survey June 2001 survey
Year-to-year chg (%) +2.3 = +77
Eewvision rate (%) fa -0.4

Example 2: Current profits of large manufacturing enterprizes (FY 2001)

Wlarch 2001 survey June 2001 survey
Year-to-year chg (%) +3.6 _ -0.3
Eevizion rate (%4) fa +16

Actual calculation behind example 1:

Year-to-year percent change of the March survey = 10,595.8 billion yen (figures for FY 2001 of the
March survey) / 10,361.5 billion yen (figures for FY 2000 of the March survey) x 100-100 = 2.3%

Year-to-year percent change of the June survey = 10,547.2 billion yen (figures for FY 2001 of the June
survey) / 9,790.2 billion yen (figures for FY 2000 of the June survey) x 100-100 = 7.7%

Revision rate of the June survey = [10,547.2 billion yen (figures for FY 2001 of the June survey) -
10,595.8 billion yen (figures for FY 2001 of the March survey)] / 10,595.8 billion yen (figures for FY
2001 of the March survey) x 100 = -0.5%



